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Triangles. Form A

1. Given right triangle AMNO below, how many units long is NO?
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2. For triangle AMNO below, MN is congruent to MO. If MO = 10 units, and PO = 6 units.
What is the area of the triangle AMNO in square units?\) Tasid €\€5 T\ a\(\é\ﬁ 0
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3. In the right triangle AMON below, PK is parallel to MN, and PK is perpendicular to NO at
K. The length of NO is 20 feet, the length of PK is 3 feet, and the length of OK is 4 feet. What

is the length, in feet, of MN? Zymlar THanAale s
B ’
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4. What is the. perimeter, in feet, of a right triangle wﬁhleﬁthat are 6 feet long and ?Lfeet N
long, respectively?
(A) VI3 leg — 24 +49= 65
A =
(B) 21 s
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(D) /85
(E) V85 + V13
5. Inthe figure below, ZBAC measures 30° angle LABC measures 110° and points B, C
and D are collinear. What is the measure of ZACD? , . \ W
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50 <ACD= 180-40=140
6. In the figure below, whereRAABC ~ AKLIld lengths given are in centimeters. What is the
perimeter, in centimeters, of AABC? Sy, \afi™ T(\\c\\mfﬂf >
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7. Inthe figure below, MN || PQ and segment PN intersects segment MQ at O. What is the
length of segment MQ? a () le)
; F MNO and OP@ are
Symlar +rangles

(A)4

(B) 24 > — X

@D g 8

(D) 49 _— = X

(E) 15vV7 Z 8
-8 _
x=& =y

M= H+8=12_



www.kawarizmi.org

8. In the figure below, C is the intersection of AD and BE. If it can be determined, what is
the measure of LBAC?

(A) 80°

(C) 110°
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9. The isosceles triangle below has one angle measure as shown. What is the measure of

each of the other angles? .
d S means  opposife angles A&
and b are ea[ud

(A) 30° .
(B) 45° 50 50 +a+b= 150
(C) 50° _ -5

Otb= 18020
(E) 130° ath= e

sq o of b7 =05
10. In the figure below, what is an expression for C in terms of x?
C— x +(><F>
(%) x? +VB 2 = X o x (8
(B)yx + 8 X
= Ky 8x
D)8 c= 9Ax
(E) 3x + V8
X\/§ C \[_J

11. In the right triangle AMON below, PK is parallel to NO, and PK is perpendicular to MN
at P. The length of MK is 15 feet, the length of KO is 5 feet, and the length of NO is 8 feet.

What is the length, in feet, of PK?
Trangles MON and MEP are Syaal
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12. In the right triangle AMON below, PK is parallel to , and NK = KO. The length of NK is

8 feet, the length of NO is 16 feet, and the length of MO is 20 feet. What is the length, in
feet, of PK?
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13. In the figure below, A, D, B, and G are collinear. If ZCAD measures 76°, £BCD measures
47°, and 2CBG measures 140°, what is the degree measure of LACD?

external Ang\ e = B
(A) 12° 2 \Jorng Qx%erM\ /'\\/\S\c ARTALRN
.m(B)MO A 1 \o= XY¥4T +746
° x=\4o-41-76
(E)j:" ab \qq B
i ALD B G x= 17

14. The area of the right triangle AMON is:
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Fnd the et h
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15. In the figure below, equilateral triangle AMNP has a side length of 10 inches. What’s the
area of the circle centered at O in inches square? ¥6r Tf‘\av\é\(_
%F X A 6‘E O 17 a_
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16. In the right triangle below, MO = 10 units, and NO = 4 units. What is the \n — \TE
sine of ZMON? . O
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17. In the figure below, equilateral triangle AMNP has a side length of 8 inches. What’s the
cosine of ZMPN? AN\ 6 d¢5 €qual
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18. In the right triangle AMON, the tangent of ZOMN is % What is the length of segment
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19. In the right triangle AMON, the sine of £0 is g. What is the length of segment NO?
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20. In the right triangle AMON, the cosine of 20 is Z. What is the length of segment NO?

(A) 24
(B)V73

(C) V55
(D)8
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21. In the right triangle AMON, the tangent of M is % What is the length of segment MO?
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aXED,

(D)7
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22. For the triangles in the figure below, what is the length of segment MN?

= 7
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O N
J 600 30° | 60°
sing | 1 V3
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23. For the triangles in the figure below, what is the length of segment NO?
O N
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24. Alaser is placed at a distance of 31 meters from the base of a tower that is 40 meters
tall. What is the angle of the laser from the ground level in order that it points at the top of

the tower? not %osc,q,é» TOA

% |
rl tano=40
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(A) tan™t i—(l)-) /1 §\. 8= tan (:Z)—c?
(B) sin~1 ) j A Yo
_1,31
(C) cos™(33) © %
(D) tan—l g f 31Tm

(E) tan(z)

25. A hiker climbs a mountain that has a base of x units, and a height of 50x units. What is
the approximate length of the mountain’s incline if it’s modeled as a straight line?

(A) 2501x o C
(B) V2504x Sox
(C)v51x EOx X
(D) V2501 x 7 2 "
= X
(E) 51x2 Cl,-c)(l 2+§SZX>L
it - 00 X
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X b > =\ /Z_5O|f\’Z
base onsles ave equal c Zso(x  C _

26. In a given isosceles triangle, the measure of each of the base angles is four timesthe — \f ol X

measure of the vertex angle. What is the measure, in degrees, of the vertex angle?

Ou= Hv yef X O\V\f)\e—

(A) 20° For tYhe Yriangle

oaratrv=180 N\ /

R °
av='80 N= \_g_oz 20
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(C) 45°

(D) 70°

(E) 80°

Answers
1. E 11.A 21.C
2. B 12.A 22.A
3. A 13.C 23.B
4. C 14.A 24.D
5. B 15.C 25.®
6. B 16.A 26.A
7. C 17.E
8. B 18.D
9. D 19.B
10.C  20.E



